==
N & 0 & AF &2 8 A A
2018A & =& 2 3 LBtS|H Aot AR A
2A Mot T A A
HM: SEHO ALZ Mot+=T EIMA
&l St Ald A (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
ASHe T AP A 15,398,494 12,735,596 2,662,898
= 2,769,000 2,769,000 0
Xl 150,000 150,000 0
= 117,577 92,500 25,077
s 12,361,917 9,724,096 2,637,821
SEHQ L2 Aol =EIHM 7,425,549 7,422,652 2,897
= 2,769,000 2,769,000 0
Xl 150,000 150,000 0
< 117,577 92,500 25,077
s 4,388,972 4,411,152 A 22,180
St Al i 6,372,417 6,347,340 25,077
= 2,769,000 2,769,000 0
< 117,577 92,500 25,077
i 3,485,840 3,485,840 0
SIE A OrE AR AL ALY 25,077 0 25,077
< 25,077 0 25,077
401 AIEHI L 2 CHYI 19,077 0 19,077
=) 19,077 0 19,077
01 A& Bl 19,077 0 19,077
OZ2Sst&a otdae] AR 19,077 0 19,077
=) 19,077 0 19,077
405 XHoHF S HI 6,000 0 6,000
< 6,000 0 6,000
01 XAt 2 Z FH S| 6,000 0 6,000
O==staa 2HEd X0 7¢ 6,000 0 6,000
< 6,000 0 6,000
2 Jl2ae 140,842 163,022 A 22,180
d2F D22 140,842 163,022 AN 22,180
101 124 dl 22,182 44,362 AN22,180
04 JIZHHZ2XREE S 22,182 44,362 A 22,180
OE=AE2H 2 M 22,182 44,362 A 22,180
—Jl=s 12,940 25,880 A 12,940
—&0= 4,314 8,627 24,313
—ReFsrE 2,692 5,384 N2,692
—Qlx=g 1,036 2,071 A 1,035
— BE S0t 1,200 2,400 A 1,200
MPES (Mol AFEA) 7,927,061 5,267,060 2,660,001
HEHHKE 7,927,061 5,267,060 2,660,001
ST AMLELIH HES 7,476,074 4,755,962 2,720,112
701 JIEtSI HEHES 7,476,074 4,755,962 2,720,112
01 JIEtSIHE &3 7,476,074 4,755,962 2,720,112
Od=EAHELESNH HES 7,476,074 4,755,962 2,720,112
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SA: Aot ST A A
3 WLEsS(Yot+ZAIE L)
©el: WRAHKZE (Ste: &)
SA-EH A (SA) - MRAE - BES Off &k 24 I EH Husz
St+EAASESN NES 450,987 511,098 60,111
701 Bt HENES 450,987 511,098 60,111
01 IS HNNES 450,987 511,098 60,111
Odt+=E AL SN BE3 450,987 511,098 ~60, 111
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